30 12 25

G

617

617

H27

H29

H31

78

78

78

x 100

28

52

64




H27 |He8 [H29 [H30 [H31

A01-001 L=1.4km | B ] 169
A01-002 4 89 90 [ B BN A B ] 37
A01-003 ( ) L=1.4km [ D B B 332
A01-004 1 [ [ [ [ [ 27
20 L=4.8km
A01-005 18 10 L=8.0km [ B BN AN B ] 42
A01-006 ( ) ] 10
L=1.4km




H27 |He8 [H29 [H30 [H31

I O )

[ I )
| LT |
N |
| LT |
N |
| LT |
N |




H27

H28

H29

H30

@) 120 187 93

) 0 0 0

(c=a+h) 120 187 93
(d) 132 30 62

(©)] 222 217 147

@ 30 0 8

0 0 0

(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 0 0 0
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